Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

Ergénze die fehlenden Steigerungsformen dieser Adjektive:

langsam

)=

langsamer

> => < am langsamsten >
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> => < am armsten
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am schonsten
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am dimmsten
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am teuersten
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am leichtesten
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am nettesten

am reichsten
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am schnellsten
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am leisesten
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am tiefsten

i
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am schlimmsten >

i
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am trockensten >
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am klrzesten >
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Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

> => < am langsamsten >

N

>

am armsten

I
\Y

am breitesten

I
\Y

am schonsten

i
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am dimmsten

i
\Y

am teuersten

I
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am leichtesten

am nettesten

am reichsten

I
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am schnellsten

i
V

am leisesten

i
V

am tiefsten

i
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am schlimmsten
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Losungen
langsam > => < langsamer
arm > => < armer
breit > => < breiter
schon > => < schoner
dumm > => < dimmer
teuer > => < teurer
leicht > => < leichter
nett > => < netter
reich > => < reicher
schnell > => < schneller
leise > => < leiser
tief > => < tiefer
schlimm > => < schlimmer
trocken > => < trockener
kurz > => < kirzer

> < am trockensten
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am kirzesten
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